This document lists errors and typos I’ve found in the FCC commercial written elements.  I show the original incorrect text is show in blue strikethrough, and my corrected replacement text in red.  Of course, the corrections indicated here are just my best guesses.
Element 1 question 12B3
Note: This question is identical to 7-001C and 7R-001C, for which the correct answer is D.

1-12B3  What is the basic concept of GMDSS?


A.
Shoreside authorities and vessels can assist in a coordinated SAR operation with minimum delay.


B.
Search and rescue authorities ashore can be alerted to a Distress situation.


C.
Shipping in the immediate vicinity of a ship in Distress will be rapidly alerted.


D.
All of these.

Correct answer: A D
Element 5 question 5A57
Figures or odd symbles symbols are collected
Element 6 question 6A26
D

Ohm's law for AC circuits when I = amperes, E = volts, Z = impedance in volts is:

 A.I = E/Z

 B.E = IZ

 C.Z= ZE/I

 D.All of the above

Element 6 question 6A27
A

The formula for determining the power in a DC circuit when the voltage and resistance are known is:

 A.P = ( E squared) / R

 B.P = EI

 C.P = ( I squared) R

 D.PF = W/IE

Element 6 question 6A68

Incorrect answer choice A should be some number.

D

What is the total resistance of a parallel circuit consisting of a 10 ohm branch and a 25 ohm branch?

 A.@ ohms

 B.10.3 ohms

 C.7.0 ohms

 D.7.14 ohms

Element 6 question 6A247
D

Primary cells:

 A.Can be recharged

 B.Cannot be recharged

 C.An attempt to recharge it would not restore the eroded electrode

 D.B & D C
Element 6 question 6A386

Answer choice B is also correct, so it need to be changed to some other value.

A

The total bandwidth of a transmitter using A-2 emission with a modulating frequency of 800 Hz and a carrier frequency of 500 kHz is:

 A.1600 Hz

 B.1.6 kHz

 C.800 kHz

 D.1000 kHz

Element 6 question 6A460

B

The relationship between the antenna current and radiated power of an antenna:

 A.P=I22 X R

 B.P=I22 X radiated resistance

 C.No relationship exists

 D.P=E x I

Element 6 question 6A481
A

A regenerative, oscillating-detector receives receiver directly coupled to an antenna:

 A.May radiate energy that can beat with other carrier frequencies and cause heterodyning interference in a number of receivers

 B.Cannot radiate energy

 C.Radiates extremely high energy

 D.None of the above

Element 6 question 6A489:
D B
What type of radio receivers do not respond to static interference?

 A.AM receivers are less responsive

 B.FM receivers have better sensitivity are less sensitive to such interference

 C.Both AM & FM

 D.B & C

Element 6 question 6A497
This makes no sense at all.  It seems to be missing the actual question.
D

Minimizes transfer of harmonic frequencies between two inductively coupled circuits:

 A.***<This answer left blank by the FCC>

 B.Induces magnetic shielding between two coils

 C.Transfers energy between two coils

 D.None of the above

Element 6 question 6A505
A

The auto-alarm signal is:

 A.Four consecutive dashes from C.5 3.5 to D.5 6.0 seconds, separated by spaces ranging from 0.01 to 01.5 seconds.  The combination may not exceed 5 seconds
 B.Three consecutive dashes from D4.5 to 5.5 seconds, separated by spaces ranging from 0.5 to A1.0 seconds

 C.Five consecutive dashes from B2.5-3.5 seconds, separated by spaces ranging from 0.01 to 0.25 seconds.  The combination may not exceed 5 seconds

 D.None of the above

 Element 6 question 6A512
A

If the vacuum tube heater in an approved auto-alarm system burns out:

 A.A pair of contacts close and energize the bell relay

 B.A pair on of contacts open and energize the ball bell relay

 C.A pair of contacts close and de-energize the bell relay

 D.A pair of contacts open and deenergize the bell relay

Element 6 question 6A529

A

By what factor must the voltage of an ac circuit, as indicated on the scale of an AC voltmeter, be multiplied to obtain the average voltage value?

 A.By the factor of 0.9

 B.By the factor of 9.0

 C.By the factor of A1.0

 D.By the factor of B2.0

Element 6 question 6A530

B

By what factor must the voltage of an AC circuit, as indicated on the scale of an AC voltmeter, be multiplied to obtain the peak value?

 A.The multiplying factor is .414

 B.The multiplying factor is A1.414

 C.The multiplying factor is A1.114

 D.The multiplying factor is A1.141

Element 9 question 9C13
Not sure how to fix this.

(D) 
By DeMorgan's Theorem, (X + Y) = 

A. ~X + ~Y 

B. (X + Y) 

C. ~(X + Y) 

D. X Y 

Element 9 question 9C24

 (A) 
Choose the correct solution to the following: 0101 + 0010 = 

A. 10111.

B. 1000. 

C. 0111.

D. 01000. 

Element 9 question 9C28

 (B) 
The standard serial output of a PC conforms to the following specification. 

A. 20 mA loop. 

B. RS232.@@ 

C. NMEA0180. 

D. Centronics. 

Element 9 question 9C38

9C38 (B) 
All DOS file names may contain a maximum of how many characters? 

A. 6.

B. 11.@@ 

C. 10.

D. 7. 

Element 9 question 9C60
The figure is missing from the document.

 (A) 
In the silicon transistor circuit below, you test the input and find that it is a 0.5V p-p sine wave centered about 4V. The output is a 1.5Vp-p sine wave centered about 7V. The most likely fact is that: 

A. The circuit is operating normally and is driving a high impedance. 

B. The circuit is operating normally and is heavily loaded. 

C. The transistor is bad. 

D. One of the circuit components is bad. 

Element 9 question 9C61

There is no figure in the document which includes a relay K1.

 (A) 
Relay K1 contacts do not close. Q1 base measures 0.7V. Q1 collector measures 12V. Proper course of action is: 

A. Change Q1. 

B. Clean K1 contacts. 

C. Change K1. 

D. Change base resistor. 

Element 9 question 9C62

The figure is missing from the document.

 (A) 
Vin measures 3.0V. Q1 emitter measures 2.3V. Q1 collector = 2.3V. Proper course of action is to: 

A. Check 10K for open. 

B. Change Q1. 

C. Change the 5K. 

D. Check the next stage. 

